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1,000& %2, 1002 2,100
OfI& =] 12,060
-2elZ=sAt 2elus
24,0002 %170 *13] 4,080
-2l BSEA M= 7,380
ZAIZ 500,000 82 4,000
M= 10,0003 250 2,500
- 2cidt= 110,000 * 1183l 880
-OtM /PNt T
300,000& 2 600
OuHE A =& 500,000& 12 6,000
OHZag - U= & 20158 =3 7Y
2,500,000 %14 2,500
OtdEdd 25 7Y
3,500,000& *14] 3,500
Ot 2AEX] M=
6,0003 x155+400H 3,600




SA: THEOHS ot
i AR oHA gt

chel: SCHIHGHOo 2 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
03 A2 SHI 5,640 5,640 0
OSUHMaHH Y HMEAHUS 5,640
-ZA= 500,000 *42] 2,000
—u X M= 4,000& »200F+42] 3,200
-1 22 B3IS MW
110,000& *42] 440
202 04| 2,400 2,000 400
01 2L AL 2,400 2,000 400
OSUMaHHY WE & HRFA AJAEY
200,000 x3ZH *42] 2,400
KIS At SRl J1gt 383 383 0
UNEPN -1 PNE=F 383 383 0
OITHEI RS AL 383 383 0
201 L2 383 383 0
02 3224l 383 383 0
O8&82= £ HA 383
Mol S = NHSEEEALEHII ISR
= 31,9003 1204 383
Ol ==4&AI& 178,500 207,120 N\28,620
tHIzZsd X 178,500 207,120 A28,620
oHIzZ=SE R 178,500 207,120 A28,620
308 XXM SO0IA 4,000 6,000 A2,000
2 obzZsd 3B Ex 4,000 6,000 A2,000
OOIEIZ R0 ARDIEIA
500,000 *42] 2,000
O=geRAds 213
2,000,000& %12 2,000
403 AXIEHHSAH=0lH 174,500 201,120 N26,620
03 tHIZsS4XE 22X 174,500 201,120 N26,620
oRsEY N 8,000
-0l il 24X 2| 800, 0002/ +803] 64,000
~Dsts ERF HMOAETE
5,000,000 14! 5,000
-2Ed X Y wEM/XIESXH-0H
8,000,000 * 14! 8,000
-SHAERN (2 /HASE)
5,000,000 14! 5,000
ouldl=&d XI& 70,100
AEE EE 46,000,000 14 46,000
-NEE I 30,0002 * 127K 360
-HEEHH 20,0002 124 240
-SEEs 250,000 =10k 2,500
-HEHE 28| 500,000 5K 2,500
-2HE= 900,000 #1504 13,500




A BN I= S
M oblzsd X
(=8 N [ | e E~ DN L2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SEL? &Yl g
5,000,000& 14 5,000
ORU=gXE 22,400,000 & x 14! 22,400
MNees 1,264,290 1,295,492 A31,202
LR HCH I = (R HOHA 1) 1,264,290 1,295,492 A31,202
MHet2eDls & 1,264,290 1,295,492 A31,202
(VAP TSE= 1,264,290 1,295,492 A31,202
01 JIsdES 1,264,290 1,295,492 A31,202
OMtt2edl= 1,264,290
B2 BEA SUAN FRAAC| 1/100
126,428,989, 432 +0.01 1,264,290
HY2AIHI(RHHrA D) 116,690 79,798 36,892
J1=22HI(THeHE It 116,690 79,798 36,892
J|22HI (T 1) 116,690 79,798 36,892
201 Ler23 | 60,290 31,318 28,972
01 At2teltl 60,290 31,318 28,972
Ogegt+=ZHI 39,878
-JIZ2 AIRE3HI 100,000 *21&H 2,100
-d)| HER 35,000 =20 =122 840
=t
23,0002 #2582t A% 123 6,900
= AD| 2t 500, 0002 +4CH+63] 12,000
~22IRl 0l H ERIE £
350,0003 x4 24x33 4,200
ARSI A2E FY 5,244
- SAD & 150,000 »1CH*53] 750
- SAD EE 330,000 *1CH*53] 1,650
- oIH Zele £
237,000 »4CH =33 2,844
-J=2EAE S 150,0002 %12 150
“JIEt=Z2H(ZAH2D)
300,000 * 122 3,600
AIRE I 2 S§E AR
2,000 *1,0000H 2,000
-S4 dIOINZIEIERIA
237,000 x2CH+62 2,844
Or=1=1:] 20,412
- HRFN GAH]
9,000&*21*102 * 123 %90% 20,412
202 04| 50,400 45,600 4,800
01 =LHOHI 50,400 45,600 4,800
Ot HRPFE 2HLHOH|
20,0002 x21H*102|* 122 50,400
203 gR=8| 6,000 2,880 3,120
01 J|2=2geR=a] 2,640 0 2,640




SM: THEHORE DL
mal: $H2
S REPIEE

RN - I BRA(E) - HRA - BES of v A

3,300,000 * 141 x80% 2,640
P =] 3,360 2,880
OXHHerM 1t 350,000 12 «80% 3,360




